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gt 5,084.3 354.0 88.5  3,541.3 349.0 2,717.0 475.3 642.5 455.0 3.0 26,764.5 4,156.5 84.64 86.12
ZALH T AR 1,019.0 62.5 31.5 737.0 54.0 553.0 130.0 127.0 59.0 2.0 6,576.5 753.5 85.30 89.97
AR T AR 349.3 28.5 3.0 239.5 34.0 165.0 40.5 43.8 34.5 - 1,603.0 317.5 84.55 82.16
Bk AR 737.8 45.5 14.0 485.5 67.0 382.0 36.5 104.8 88.0 - 2,976.5 527.0 82.25 84.29
PR T 7ERE 393.3 22.5 9.0 264.5 28.0 196.0 40.5 49.3 48.0 - 2,160.0 333.5 84.30 86.02
BT T R 221.5 16.5 6.0 170.5 17.5 105.0 48.0 27.5 1.0 - 807.0 146.0 86.11 84.70
B SR T AR 77.8 7.0 2.5 59.5 4.0 42.5 13.0 8.8 - - 497.0 64.0 87.18 89.03
=i )5 AR 623.0 39.5 4.0 460.0 52.0 346.0 62.0 68.0 51.5 - 2,959.0 463.0 87.12 85.82
FERE T AR 84.3 6.0 - 54.0 2.0 50.5 1.5 12.3 12.0 - 390.5 81.0 81.51 80.79
LM T R 161.8 20.0 3.0 123.0 0 74.0 42.0 9.8 6.0 - 815.5 151.5 92.66 84.24
T T AR 78.3 9.0 1.0 52.0 0.5 46.5 5.0 .8 8.5 - 467.5 73.5 87.03 86.42
EEMIT AR 132.8 11.5 1.0 90.0 0 84.0 3.0 16.3 14.0 - 655.0 94.5 84.71 87.48
2T ER 315.5 30.5 4.0 229.3 25.5 171.0 32.8 41.3 10.5 - 1,632.0 343.5 84.75 81.07
e T R 411.0 18.5 2.0 268.5 20.0 246.5 2.0 66.0 56.0 - 1,809.0 237.5 80.27 88.00
TEUE N 7 2R 29.0 4.0 - 16.0 5.5 10.5 - .0 6.0 - 839.5 127.0 84.21 85.35
S5 LR 23.0 0.5 - 14.0 - 14.0 - 4.0 4.5 - 191.0 30.0 77.78 84.55
R T AR 113.5 9.5 3.5 63.5 8.0 47.0 8.5 19.0 18.0 - 658.0 123.0 76.97 83.28
EE T ER 44.3 8.5 1.0 30.0 2.0 24.5 3.5 1.8 3.0 - 158.0 47.5 94.49 75.95
L TT AT 83.5 4.5 0.5 61.5 6.0 55.5 - 12.0 4.0 1.0 327.0 64.5 83.67 81.80
E M T R 96.3 5.5 1.0 61.0 7.0 54.0 - 12.3 16.5 - 394.0 80.5 83.28 81.22
HeE T AR 84.5 4.0 1.5 57.0 6.0 44.5 6.5 8.0 14.0 - 781.5 82.5 87.69 90.15
B T AR 5.3 - - 5.0 - 5.0 - .3 - - 67.0 15.5 95.24 76.87
7 AR IR (%) -1.73 -15.41 -28.05 -1.60 4.33 -2.79 1.22 4.98 8.59 50.00 -3.36 -1.70 -0.82* -0.56*
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